3A10H

(B) EHRE2 14 LT—T)

1 2 3 4 5 6
10:00 11:00 12:00 13:10 14:20 15:30
HVTERL ENVYERL EVTEAR
! A 2-3 AR A 1 Al x 1
HUIVTERL EVTERL EVTIRER EVTIRA EVTER
’ B 2—3 BE @ 1 B X 1 101 201
VSRR EVTERL EVTRR L ARY =32
’ cC 2-3 ca x 1 CH » 1 RE#301
VSRR EVTERL EVTIER EVTER
) D 2-3 DE # 1 D X 1 202
HUIVTERL EVTERL EVTER
° E 2-3 EA x 1 EB X 1
ARBF ARBF MBBF
’ A 2-3 AfE # 1 AB 3 1
ARBF ARBF MBBF
7 B 2—3 BE @ 1 BE * 1
ARBF ARBF MBBF MMBF MMBF MBF
’ c 2-3 ca ¥ 1 chil x 1 101 201 %301
ARBF ARBF MBBF
’ D 2-3 DE # 1 D * 1
ARBF ARBF ABBF ABBF
0 E 2—3 E& # 1 EB » 1 202
11 P RF A RF MRF
A 1—4 A 1-3 A 3—4
P RF A RF MM EF VR koo
' A 2-3 A 2—4 A 1-2 R
AhRF A RF MMRF
" B 1—4 B 1—3 B 3—4
P RF A RF MMRF
14 B 2—3 B 2—4 B 1—2




